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Link Layer Switching 
1) (Taken from Kurose & Ross, 5th ed.) 

A learning switch in directly connected to 6 hosts A, B, C, D, E, F (Simple star topology, like in 

slide 5 of recitation 3). 

a) A sends a frame to D 

b) D replies with a frame to A 

c) C sends a frame to D 

d) D replies with a frame to C 

The switch table is initially empty. Show the state of the switch table before and after each 

of these events. For each of these events, identify the link(s) on which the transmitted 

frame will be forwarded, and briefly justify your answers. 

STP 
רשום ( קו דק)ליד כל חיבור , רשום המזהה שלו( עיגול)בתוך כל גשר  .נתונה הרשת שבתרשים (2

עלות כל . (אות אנגלית)ובשם  קטעי הרשת מסומנים בקו עבה .שלו port -ה של מזהה המספר ה

 .החיבורים זהה

 :מתייצב STPכאשר 

a)  מיהו ה– root? 

b)  לכלbridge נוציי : 

i)   מי ה– root port שלו 

ii)  מי ה– designated ports שלו 

iii)  רק לפרמטרים והתייחס)מהי ההודעה שהוא שולח לשכניו :root ID ,Cost to root ,

Transmitting bridge ID כפי שעשינו בכיתה.) 

c)  ה נניח שאחרי ההתייצבות– forwarding tables של כל הגשרים ריקות 

i) host  המחובר ל– LAN C  שולחframe  עםMAC dest addr.   שלhost מחובר ל ה– LAN D .

היא תגיע  LANsולאילו , באיזה מסלול תעבור ההודעה :שמתרחש  flooding –את ה  ותאר

 ?לבסוף
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ii)  ה– host  המחובר ל– D זה המחובר לעונה ל – C .ת המסלול שההודעה שלו א ותאר

 ?היא תגיע לבסוף LANsולאילו , באיזה מסלול תעבור ההודעה :עוברת ברשת

 

IP Forwarding 
3) (Taken from Kurose & Ross, 5th ed.) 

Suppose a router has four links, numbered 0 through 3. Packets are to be forwarded to the 

link interfaces as follows: 

i) 224.0.0.0 through 224.255.255.255 to link interface 0 

ii) 225.0.0.0 through 225.0.255.255 to link interface 1 

iii) 225.1.0.0 through 225.255.255.255 to link interface 2 

iv) Otherwise – to link interface 3 

a) Provide a forwarding table that has 4 entries, uses longest prefix matching, and 

forwards packets to the correct link interface. 

b) Describe how your forwarding table determines the appropriate link interface for 

datagrams with destination addresses: 

i) 0x C8 91 51 55 

ii) 0x E1 00 C3 3C 

iii) 0x E1 80 11 77 
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ICMP 
4) Traceroute 

a) (יש לכם גישה אליואו כל מחשב אחר ש)מהקמפוס  מידע של הניתוב, לגלות שתוכלו ככל, מהו 

 ?www.telecom.co.nz המכונה אל

b) עובר המסלול, לגלות שתוכלו ככל, מדינות אילו דרך? 

c) חזרו על הבדיקה בהפרש של מספר שעות ובדקו האם אתם מסוגלים לאתר שינוי בניתוב. 

 


